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263|3 A EX 2| #BE™ | E&™m | &L | 1@ 4, 000|344

264(3IAK  FEX 2| #E™ | E&™m | &L | 1@ 2,000\

2658k BRTF 2| #BE™W | Z&™m | &L | 1@ 14, 000|348

266|808 RTF 2| BRM | BRW | KR | H 1, 000 | kg
267|111 BEXK 2| BRM | BRM | KR | H 1, 000 |k
268|/BH  FER Bl BEET| BRM | KR | H 10, 000| 7k Fig
269|faM & 2| BRM | BRM | KR | H 1, 500 | kg
2701 F  FH g FEm | FET | Rk | B 2, 000|7K7E
11| E&AN B g FEh | FET | Rk | B 3, 000 |7k 7E
212\mF  BUF 2 BEM | BEW | 8 | # 3, 000 7K F
273|BEE  z5BR 2 BEM | BEW | B | H 3, 000|x@ mrms
274| Bk R— 2 BET | BEW | 2R | A 20, 000 | EAFHEY)
275|/ IR 2 BEW | BEW | 2R | 1@ 20, 000| &1 EF =
276|f0@ IEYE 2 BEW | BEW | 2R | 1@ 10, 000| BB EF 2
277\l R— 2 EBET | BEW | 2R | A 10, 000 |EARMEH
278|#F+ BB 2 EBET | BEW | 2R | A 10, 000 |EAREH
279 |ERAHFIRBHS B BE®m | BE®m | 2R | A 20, 000 | EEHEY)
280\ M EE 2 BEM | BET | £#R | H 10, 000| 7k Fig
281|AER & 2 EBET | BEW | BF | A 10, 000 |EAREH
282|FH EA [

EEh | BES | BE | [ 10, 000 | 7K TG

283 |aRait vrva—ax BEH | BEM | BE | M| 50,000,000/

Jm

284 |#HRAH %3 2 BEW | BEW | BE | 1@ 2,000, 000 [-+ss <+
285| kR = S| EIRET | |k | | | 4H 5,000\ 1 >4~
286| kIR = S| EIRET | |k | | | 4E 5,000\ 1 >4~
287|175 % 8| EKF | K | EK | UE 5,000 >4 >
288|/AN = 8| EkF | K | EAK | UE 5,000 >4 >
289|kE BT 8| kT | K | EAK | UE 5,000 >4 >
290|=8 K& 8| kT | K | EAK | UE 5,000 >4 >
291\Ng] 1A= B| ok | KW | K | ME 5,000|1 >4 >~
292\ 1A= B| =k | KW | K | M 5,000|1 >4 >~
293()11kE  BUR 8| EKF | K | EAK | UE 5,000 >4 >
294|H 8| kT | EAW | EK | H 5, 000|&

20588 i S| kT | F|AW | EX | M 5,000\ 4 >4 >

296|EHE AR

Jm

BEM | J|XMH | &|K 5,000 ERE

297|RE  fo==

Jm

FERESRA| FEFESRN| HE R 3, 900|FEER B =

298 [hAett HoERE

Jm

299|fEAy BRRE

Jm

B EE R | FREmeam| SRR 1, 900 [Ki®, wcs

H
S
FrEmEERE| FRnaery| HaE | M 2, 200| 7k Fig
H
H
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300(Tom 107 r—n etz 8| s p | fFREsks aar| 5558 960 | KA

301|A&M SHeR B | FFEERs AT | FFEERSTRT| AAR G | 4E 500| TEHLEF 3
302\t S B | AR RS ET| FERRSTAT| AAR & | A 1,000 [ EHbEF
303|t0@  ERR B | AR RS ET| FERRSTAT| AAR & | A 15, 000 | EEHBEF 2L
304|088 EFR B | AR RS ET| FERRSTAT| AAR & | A 15, 000 | EEHBEF 2L
305|818 x3T B | FFEERs TR | FEEERSTRT| AR 5 | 4E 2, 200| EEHIEF 3L
306|FFA  BER B | FFEERs AT | FFEERSTRT| AR 5 | 4E 2, 000| EEHBEF 3
307 4By Fib B | AR AT | TR RS TAT| AAR S | 4 2, 000| FEHBEF 32
308|= A B | FFEERSHIIRT| FEEERSTAT| AAR 5 | /A 1, 300| FRHLEF 32
309|/\E  BBaL 1358 | AR e TAT| FFE R TAT| AAR & | /@ 1, 500| EH1EF




No. ERFERHE HERERANSE

K& (&) ] GiLIE) EA | BERE| #E EE(mM) [P Ess HEEEE
310| i@ 1B— Be IR B B | IFRERSSTAT| SR AR TE| AAR G | /A 4, 700|125
311|EREH WMTHZE|ERSE|FERIE| ARSI KRS | M 1, 000| &%
312|Ehy & IR BB | R T | R T | KRS | 6, 000| EHOEF
313|5kEH 217U F |ERER|(FEmBSIN| ARSI AR S | [ 3, 000 | EHEF 52
314|8)Il B#H B IR B | FEarss T | AFEAsR | AAR S | 4 856 | BB EF 5L
315|f@M  ffF B\ 5 B | AR TAT| PR R TAT| AAR & | /A 2, 000| EHbEF 32
316|f@F 5 B IR B B | FFRERSTET| SRR TE| AAR G | /A 2, 70025
317|f8M &g B R B B | FEmARssTAT| FEERs TR AAR G | /A 2,000|Z
318|f@f B\X IR BB | R TR | Rt KRG | A 1, 000| EHhEF L
319|1T/R BUE BRI | AFmEss TaT| R AR TR | AAR S | /@ 3, 000 | EHEF 2
320\ R fEKER  |EREBE|REmSTEH|FER T KRS | M\ 4, 300| EHBEF
321188 YT BB BB | HES T | FESm T KRS | (@ 3, 000 | EHLEF 32
322|BH FfE B IR B B | FEasss T | FFEAsR | AAR S | 4 20, 000| %5
323| Bk BB B\ 5 B | AR TAT| PR R TAT| AAR & | /A 7,000 B85
324|408 BB BB 58| fEmsIEr| FERs T HA | A 4, 000| EHEF
325|MEH Ftb IR B8 | FEms | ARSI B | B8 2, 000|WCS
326\l t#H=E IR B B | FFEassTRT| FFERRsTAT| A | A 3, 000 | B REY
327|f8 e IR S B | FEissTh| R T B | B 2, 000 |48 - Bz
328 |t SBRuE | EIREE|FERIE| ARSI B | @ 2, 000| %%
329|FETT A R B E| AR | AR T A | B 1, 500 | BEIEY
330|R Ak B8 e8| rrancen| fraecen Bh | @ 20, 000| &
331|hE B B8 B | mrEnm k| rEsmcei Bh | 20, 000 | B E
332|4E A B IR B | FEas IR sEmmAany| RS | B 50, 000~ -
333| L% & B2 5 B | R | RS =l | 4, 790 | —<>
334|BF B IR B 2| FEEAT | FREs S| NZ0E | B 926 | FRHEY)
335| k# Etb BRER| #EE™ | ERW | ME | B 2, 000| 7k Fig
3361l 5P =R | &EH | SR | ME | B 100, 000 7Kg
337|Fmat sv-—>vr-x| BIgE | W | S0m | ME | 4 1, 000, 000 |#3. s
338|5E BARN |BESE| EHhET | ShEm | ShE | M 6,000 E—~ >
339wz snann | IR SR B ET | SfhEm | ML | 4 10, 000 | &8 v~
340|188 =@ BREE| EhEm | EhEm | il | 1 6, 000 |swm. wm. vos
41|&F HE BREE| EhEm | EhEm | il | 1 7,000 =5
342|HhE =4 BRER| ShEm | Shasm| AW | B 5, 000 |7k 7E
343|aRait AB7U |BESRE| ShEm | ShEm| A | B 9,000|®%%. Az
344|aRcH AB7/V (BERER| ShEm | ShEm| 8 | A 3,000 B85
345 st zoverr-u |EBIRSE| EhET | ShET| B8 | B 5, 000 7K F
346 |HRaH ANEX|ERSR| EAEN | EhEm| W | 4 5,000| A2
347 |the ANEX|BRSE| ShET | ShET| 8 | E 1, 000 |k
348|thte NmEE|EBRSE| ShET | ShEm| 8 | B 3, 000 7K F
349|the BREX|BRESE| EhEm | ShEm| B8 | M@ 20, 000| AEHE
350|AF =K IR B8 | mpnmalEr| enmaser| Al | A 3, 295 |#&
3B/1|AR =K IR B8 | mpnmaEr| enmaser| Al | A 1, 338|4% &
352|WHE =2 B2 IR BB | mmaskushr| e asr| K& | A 164|#HE
353|NHE =2 IR B8 | mpnmakEr| sRianer| Al | E 1,077|%&
354|AHE =2 IR B | snaAshy| snmAlm| K | B 1, 095 |# &
355|AHE =2 IR 58| mpnmakEr| sRipaser| Al | E 1,016|%&
356|NHE =2 IR 58| mpnmakEr| sRipaser| Al | E 1,019|%&
3b7|WHE =S B2 IR BB | mmaskushr| e aisr| KlE | A 480 |2
358|WH =2 BEIR BB | wrakumir| wraama| Kl | B 519|HE
359|WHE =2 BEIR BB | wrakumer| wraama| Kl | B 230 |4 E
360|WNEH =2 R 5 B | mrasasnr| mramamar| Al | B 929 |4 &
361|WHE =2 B2 IR BB | maaskushr| e asr| KlE | A 312|4%
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K& (&) ] GiLIE) EA | BERE| #E & () {4 F 1R HEEEE
362|AHE =2 IR BB | snap Ay SREAE| Kl | K 2, 420| &
363|ERAY KBEE|EIREE| mnmArsar| SR KK | K 1, 900| K4R
364|ERA KEEE|EREE| snmatr| snasknir| KE | 687|KIR
365|ERa KEEE|EREE| wnmaktr| snasknir| KE | 634| KR
366|EREAY KIBEE|EIREE| wnmArsar| SR KK | 2,291 | KR
367 |EREH HTEE|ERER|gnmAmEr| gnmakmer| KlE | @ 961 | AR
368|ERAY HTEE|EREE| snmArs| SR KK | 2, 457| K1R
369|HREH HTEE|EIRER|gnmAmer| anmame| KiE | @ 645|X1R
370|smeit mHE77Y |EIREE| ekt snasksir| KE | 550| AR
371|smeit BHE77Y |EIREE| ekt snasknir| KE | 2,754| H=
372|smeit mHET7IV | EIREE| wnmkir| snasksir|  KE | 914|HZE
373|smait mHET7IY | EIRBE| ekt snasksir|  KE | 1,031|H=
3T4|kRAH keS| IRE B | enmAer| snmAmer| K | H 1, 510|7&f
75|k ait =aRE |EIREE| wnmAksar| SR KK | K 5,015[F v+ XY
376|Hkat =oEE|EIREE| wnmArsr| SR KK | K 1,523|F v R
377 |H=tat =oRE |EIREE| wnmAwsr| snaAmse| K | (A 1,969|F ¥ XY
378 At moEE |EIREE| wnmAksar| SR KK | K 1,382|F v R
379|Hait =oRE |EIREE| wnmArsar| SR KK | K 3,659 F v XY
380|%=att mBRE|EREE| wimaktr| snamknir| KE | 975 F v R
381 |Htait =oEE |EIREE| wnEArsar| SR KK | K 2,482 F ¥ XY
382 |Hait moEE |EIREE| wnmAksar| SR KK | K 7,259 F v Y
383|Hhait =oEE|EIREE| wnmArsar| SR KK | K 7,690[F v XY
384 |Hait moEE|EIREE| wnmArsr| SR KK | K Loll|F v R
385 |Htait =oEE |EIREE| mnEArsar| SR KK | K 1,524|F ¥ R
386 |Htait moEE|EIREE| wnEAkshr| SR KK | K 1,034|F v R
387 |hait moEE |EIREE| wnmAksar| SR KK | K 1,704 F ¥ XY
388|Htait mEE |EIREE| wnEAksar| SR KK | K 2,001|F ¥ Y
389 |Htait mOEE |EIREE| wnEArsar| SR KK | K 1,960|F v+ XY
300 |Htait =oEE |EIREE| wnmAarsar| SR KK | K 1,659|F ¥ XY
391 [#=tait =ioRE |EIREE| wnmArsr| SR K | K 1,669|F ¥~V
302 (et =oEE |EIREE| mnmArsr| snmAmse| KK | K 1,129 F v R
303 |Hait moEE|EIREE| wnmArstr| SR KK | K 1,682|F ¥~
394 |Htet EE |BEEE|wnmakt| wnmamn| Kl | 4 4,292| 5=
395 |thtet BHE |EEEE|snmak| snmakn| K& [ 4H 1,975 HZ
396 |thtet BHE |EEEE|snmak| snmaksn| K& [ 4 1,606 HZ
397 |k BLER IR B8 | mpnmalEr| snmaser| Al | A 13, 800|#rE
398|/EM BB IR B8 | mpnmalEr| snmaser| Al | A 3,191 |#&
3998 H— IR B B | mnaaishr| snaanir| Kl | B 1, 338| 7k
400|808 H— IR BB | ekt snasanm| Al | B 807 | 7k
401(FN W4T BRER| AT | AeEkm| = | B 10, 000|W C S
402 |E7epE cRsE|BRER| AeEm | mekd | T | A 2,000|xe5 50
403|HF RE BRER| XM | Aekm| 5 | @ 15, 000 |:+720: mxmrecs
404 1LF 1B BREE|renrmEre| ok | FF | 4@ 2,000|x &5 =V
405(1LF IE BRER|AzES | Aekm | 5 | M 9,000|xe5 50
406(1LF IE BRER|AzES | Aekm | &5 | M 2,500|x¢ 550
A07JFRHE 53X BRER|AzES | Aekm | &5 | M 5,000|= &5 &0
408|HE B BRER| XM | Aekm| 5 | @ 3,000[x &5 xV
409\ P8 KFHF BRER| AeERm | Aekm| 5 | @ 16,000|x &5 =0
A10=BE B BRER|AzES | Aekm | &5 | M 10,000|x &5 &0
A11|RH BARES |BRBER|AzEM|fzkd| 5 | M 2,000|xe5 50
A12|RE B=F |BRBE|AzEkm|AzEm| FF | M 2, 000:720 mzmrecs
A13|RE =7 |BRBE|AEkm |fzEkm| FF | M 4, 000720 mzmrecs




No. ERFERHE HERRERANRS

K& (&) g GilED) ETH | EERE| #BE (M)  |#EEFERE Y EIE
A14| K% #%— BRER|AzES | Aekm | 5 | M 10, 0002 &> v, s
415|\"85T #Hh BEREE | wememrn| weneazn| A | 1@ Q58] 7m0
416 |2)I] TE BB e e | renrmre| reneEre| ¥EE | (@ 5, 619|853
417|121l EE BB e | renrmra| reneEre| ¥EE | (@ 8, 703| B9
418|thtatt 79< 3 |EIRBE|rentmro| rentare| BFET | MM 10, 921 |#rE
419 (Ml EE BB e | renmare| renmaren| i | (@ 3, 800| &L
420|HR RN EIRE B | wxawmErn|seamErn| Lo | 4 1, 700| Zefm 3
A21|\hrE BB |EREE|wenwern|wcnmErn| fHe | H 2, 500|WCS
422\ AL BIRE B | wenmEre| pemaEren| 72 | (M 3, 000 |k o5t
423|/ B KA EREE|rensarn| neamErn| e | (@ 5, 800|442
424\FAJc & BIRE B | wenmEre| pemasren| 72 | (M 1, 300|#E
425|AT X# EREE|rensarn| neamErn| e | (@ 5, 300|#4E=
426|MAT X# EREE|renmarn| neamErn| e | (@ 3, 500|442
427\AJc & BIRE B | wenmEre| pemaEran| 72 | (M 1, 300|#E
428\ % BRBER| #wEMm | ®EM | ZF | 1@ 6, 000 [ee5 = sz
429|8 KX BRER| wEM | &®ED | A | A 5,000|= &5 &0
A30|8REH £ KEB |ERBE|xszmimer| xemeem| KB | M@ 1, 164|7=A DA
A31|EE B |EREE|xemEam|iemEsm =7 | A 5, 462| B
432|Z=H E—BR  |BIREE|ismazsn|cnneznn| 28 | M 6,000|% k¥t
433|KH E B IR BB | kemmz b kemazsn| 2 B | (M 2,000(% Fvxe
434151 B— BB B8 | xemEmer| X eREmE| K | (@ 500l 5 =0
435|F0H A= IR B8 | xemimntr| cemman| MG | A 2, 000|BRIEY
A36|HRAH FFaI0|EREE|xemimnt| kemia| F8 | @ 2,000 B
437|%  HE IR BB | xemmnt| cemman| MG | A 5, 000 | BRI /EY
438|FkE  TRR B2 e B | xemimam| xemman| 38 | /@ 2,000|% FvxE
439t ERTF IR BB | xemumal| xemnan| BFA| 8, 000 [ce720 -
440 ERTF BIREE | kemman| Aeimal| BEFA| (M 10, 000{x 5 =0
A41|FER BF BIRE B | xemasi| xemasiy| BFA| /@ 30, 000 | o1
442 EXF LHE BIRE B | xemasi| xemasir| i | /@ 3,000 [s050 wnoes
443\ Ft B2 e B | xemasi| xemasir| )| /@ 4,000 20w
A44\7F% B8 BIREE|Axemmai| Aammanr| i | /@ 3, 000[»» zerzv
445\7%  BEA BIRE B | xemasi| xemasiy| I | /@ coolxes =
A6|FHE & IR BB | xemmalr| cemman| i | A 1002555 ens
AT |BElS Z\BF  |ERBEE|xemaal|xemasi| JEHE | @ 10, 000 wro= soew
448|F  RIE BEIR BB | xermal| A B HEF 2 | 1 1, 500[moes seoes




